Revision Sheet 2: Algebra 1b 6™ Year OL Maths

QL. Solve the following equations and verify your answers to each.

i) 3x-6=-9 Ans: x = -1
i) 3x-10=-14 Ans: x = -4/,
i)  3(x-2)=7(x+5)-13 Ans: x = -7
iv)  3(y-1)=1+4y Ans:y = -4

Q2. Solve the following fractional equations:
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i)y—=- Ans:a=-1
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i) + =3 Ans: X = —
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4x + 5 2x -3 32

i - =— Ans: x = -1
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Q3. Manipulation of Formula
i) Expresstintermsof sand q: 2(s—3t) =q

i) Express ainterms of vyuands:  v? = u®+ 2as

iii)  Expressrintermsof A,mand h: A = 2nrh

Q4. Solve the following simultaneous equations:

Due Date:

(Chap 2 pg 64)

(Chap 2 pg 65)

(Chap 2 Pg 66/67)

2 —_
Ans: t = 56 a
Ans: g = 2%
v = A
Ans. r = pw—

(Chap 2 pg 70/71)

i) x+y=4 i) 3x+b5y=-15

x-y=10 Ans: x=7,y=-3 4x+3y=-9 Ans: x=0,y = -3
iii) 3X+ZYf21 . ) ) iV) %X'%y=3

4x-Dy=28 Ansix=7,y=0 3x+2y=11  Ansix=3,y=1

Q5. Solve the following inequalities and show on a humber line:

Ans: x > 4

7
Ans: x < 3

) 3x—8>4 xEZ
i) 4x+3 >6x—4, xEN
i) 4(x-3)=-2(x+1)+2, xER

—3(2; +3) <

—4(x +4)

. Ans: 0<x <3

, xEZ

Ans: -4 <x <6

( Chap 2 pg 78)




Past Exam Questions:

Q6. 2019 Paper 1 Q4(a)
Solve for x:
3x+1 x-=2 47
TS 10 Ans: x =5
Q7. 2019 Paper 1 Q6(a)

Solve the following inequality for x € R and show your solution on the numberline below:

2(3—x) <8.

Ans: x > —1

F 3
v

Q8. 2019 Paper 1 Q8(a)(ii)

The power (P) of an engine is measured in horsepower using the formula:
RxT
P =
5252

where R is the engine speed measured in revolutions per minute (RPM)
and T is the torque measured in appropriate units.

Ans: R = 5252P
(ii) Rearrange the formula to write Rin terms of Pand T. ns: R = T
Q9. 2018 Paper 1 Q3(b)

Solve the simultaneous equations below to find the value of a and the value of b.

Sa+b =-8
Q10. 2017 Paper 1 Q4(a)

Solve for x:
11x —52x—-1) =3(6 —x) + 3. Ans: x=4



